0.01°] 5
0.0010] 4

3+0.140.05+ 0.004 = 3.154




[ ]-017=019

0.36

ul
RO

0.19 +0.17

0.36

]




3.

57 7FE 6,4,2,5% T WA GOl 25 A A 48
Vg 2 SV e 50 g T L.

> E:

> HEH: 4.086

a
—

= ™,

71 2 ag Al A 4= 6.542
7V AL a5 Al 2] S 2.456
6.542 — 2.456 = 4.086




4. A AT A 2 A9 75

i

#A L.

@ 6.02-1.8 © 2.43+2.77 ® 9.2-454

|l
[= I

>
> ®HeE: ©

B

@ 6.02-1.8 =422
© 243 +2.77 =52
© 9.2 - 4.54 = 4.66
wrebA, AA At 71 2 AL ©o| Tt




oL,

2712 HliLste] O 9ol >, =, <2 LA AN Q.

8.2-1.493(010.973 - 5.284

8.2 — 1.493(= 6.707) > 10.973 — 5.284(= 5.689)




